6. TG EBENMEEE (EHNR)
EROKRES

et b (Ewhk bit)
el B (/N{F  Byte)
el o (XUTvYhk octet)

¥1B(/SNMR)=8b(Evk)=10(FHFvEk)

(SiBEHzEE-1=155]

kB (FB/NAFk) (1,000/3A1F)
MB (AH/NAF)
GB (FH/N1k)
TB  (T3/N(F)
R PB O (RANRAN)
S$i it EB (ZOHNAR)
TN zZB (BAnNAb)
LIni YB O (38NAR)

([2EHEFEZFES-HE]

KiB (FE/NAh)
MiB  (AE/NA1)
GiB (FE/N4Mk)
TiB  (TE/NAF)
PiB (RE/NAR)
EiB (ZJRE/NAF)
ZiB (¥E/NAK)
Siiatetiit YIB O (FE/NAR)

HK1FO/NARE, 1,000\ ELTHRODNDIGEEEL,024NAELTHRDODNDIGE
NHd, 2EEBEHEF>TIFENAMKIB)ERELIEESIENT 1,024 +ThH
b,

MNAEFITFIRERILER  ANRA A AEYMZH YT EINIEIXARIZK ST
H. BT LEINALDBEYREIEIBROEW , AV TYRNIRTEYRTH D ATy
FMIBESFHFTL(HETLS,

et ko (¥OFYTvh) St Ko (RFEAXYTUR)
2 Mo (AAAYTUR) i Mo (AEXYTYER)



